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HiH96 R AHHML (B1) | 138.1 | 124.3 | 207.1 | 90.0 | 1.5 - 12.0 HiER129 BV A HL (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | _ 12.0
HH97 [k (B1) | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | - 12.0 Mige130 FEdL ML (B1)| 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | _ 12.0
Eiiigg Egjﬁigii Eﬁii 122:? 1Zi:§ ;8?:? 28:8 1:2 : 1;:8 HbHe131 R (B1) | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | _ 12.0
Mt 100 Fl ML (B | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | - | 12,0 5132 RS (BD | 138.1 | 124.3 | 207.1 | 90.0 | 1.6 | - | 12.0
Hhbe101 Pk (B1)| 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | - 12. 0 bR 133 Pl (B1) | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | — 12.0
102 A (B1) | 138.1 | 124.3 | 207.1 | 90.0 | 1.5 | - 12.0 134 FEHM (B1)| 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | _ 12.0
HiHe103 FEML A (B1) | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 - 12.0 Hibh135 RV EHL (B | 138.1 | 124.3 | 207.1 | 90.0 | 1.5 | _ 19.0
1104 FEL A (B1) | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | - 12.0 WiHe136 LML (BL)| 168.0 | 1512 | 302.4 | 90.0 | 1.8 | - 12 0
HiH105 ML (B1) | 138.1 | 124.3 | 207.1 | 90.0 | 1.5 - 12.0

HiFr106 FoML AL (B1) | 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | - 12.0 HIRIST Rl (BL) | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | - 12.0
Hisk107 ki (BD| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | - 12.0 HifR138 plv Al (B1)| 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | - | 12.0
108 FEMV M (B1) | 138.1 | 124.3 | 207.1 | 90.0 | 1.5 | - 12.0 HiHR139 ML (B1D | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | _ 12.0
1109 FEL A (B1) | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | - 12.0 140 pEv M (B1)| 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | _ 12.0
iiiiii? Eﬁiﬁigii Eﬁii 122-? igi-g gg?-j 28-8 1-? - 1;-8 Wobe141 FlvfEHs (B1)| 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | _ 12.0

ER . . . . . - .

2 L B | 1680 | 1512 | 3024 900 | 18 - 50 HhHe142 pEML ML (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | — 12.0
Hib113 @Al (B | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | - | 12.0 5143 LSS (BD | 138.1 | 124.3 | 207.1 | 90.0 | 1.6 | - | 12.0
114 Bl (B1)| 168.0 | 151.2 | 302.4 | 90.0 | 1.8 | - 12.0 Hube144 pl AL (B1) | 169.7 | 152.7 | 305.5 | 90.0 | 1.8 | - 12.0
o115 FEME A (B1) | 168.0 | 151.2 | 302.4 | 90.0 | 1.8 - 12.0 HhHe145 FEML ML (B1) | 169.7 | 152.7 | 305.5 | 90.0 | 1.8 | _ 12.0
116 P M (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0

117 A (B1) | 172.4 | 155.1 | 310.3 | 90.0 | 1.8 | - 12.0

118 P A (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0

119 P A (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0

Hode120 ML (B1) | 172.4 | 155.1 | 310.3 | 90.0 | 1.8 - 12.0
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HibR146 FEL L (B 127.5 114. 7 255.0 90.0 2.0 - 12.0
HibR 147 L (B 127.5 114. 7 255.0 90.0 2.0 - 12.0
HibR 148 FEL L (B 138.1 124. 3 207. 1 90.0 1.5 - 12.0
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HibR161 LA (B 136. 6 123.0 204. 9 90.0 1.5 - 12.0
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HibR166 kA (B1) 136. 6 123.0 204. 9 90. 0 1.5 = 12.0
HibR 167 M L (B1) 127.5 114.7 255.0 90.0 2.0 = 12.0
iR 168 L (B 127.5 114.7 255.0 90.0 2.0 = 12.0
iR 169 A (B 136. 6 123.0 204. 9 90.0 1.5 = 12.0
HiER170 FEV e (B1) 136.6 123.0 204. 9 90. 0 1.5 - 12.0
HiER171 v (B1) 127.5 114.7 255. 0 90. 0 2.0 = 12.0
Hi 172 FEV L (B1) 127.5 114.7 255. 0 90. 0 2.0 = 12.0
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HidR174 L (B1) 172. 4 155. 1 310. 3 90.0 1.8 = 12.0
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177 N (BD) 136. 6 123.0 204. 9 90.0 1.5 - 12.0 ey
178 M (BD) 136. 6 123.0 204. 9 90. 0 1.5 - 12.0 1 iﬂ’;ﬂ%ﬁﬁﬁ
HhHL179 ML (BD) 136. 6 123.0 204. 9 90. 0 1.5 - 12.0 I |
HhH180 ML (BD) 136. 6 123.0 204. 9 90. 0 1.5 - 12.0
s 181 v (B 160. 1 144. 1 320. 2 90. 0 2.0 - 12.0 F - ﬁ 1EHBLT 2
Hh 182 M (B1) 160. 1 144. 1 320. 2 90.0 2.0 - 12.0
183 prIk A (B1) 138. 1 124. 3 207. 1 90.0 1.5 - 2.0 | .
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Hh 189 ML (B1) 127.5 114. 7 255. 0 90.0 2.0 - 12.0
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191 N (BD) 127.5 114. 7 255.0 90.0 2.0 - 12.0
M 192 N (BD) 127.5 114.7 255.0 90. 0 2.0 - 12.0
HhHL357 L (BD) 179. 7 161.7 808. 7 90. 0 4.5 - 12.0
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MiER193 Rl AL (B1) | 142.2 | 128.0 | 213.3 | 90.0 | 1.5 | - 12. 0 HiHR201 | FMVAHS (B1) | 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | - 12. 0
Hobe194 ol fidh (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0 ﬁi;gg Ei%ﬁ EEB 1;;2 ﬁi; ;ggg 388 ;8 - 1;8
HhBe195 MV (B1) | 160.1 | 144.1 320.2 | 90.0 | 2.0 - 12.0 {201 %ikﬁﬁiﬂg B 127-5 114-7 255-0 90-0 2-0 - 12-0
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Hubk199 F Ml (BL) | 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | - 12.0 HbB208 | FkfHHE (BD) | 169.7 | 152.7 | 305.5 | 90.0 | 1.8 | - 12.0
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210 FEML A (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12.0
211 pEMp A (B1) | 172.4 | 155.1 | 310.3 | 90.0 | 1.8 - 12.0
212 FEML A (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12.0
213 FML A (B1)| 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12.0
HhiRho14 P (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12.0
HhiR215 P (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12.0
Hhiho16 P AL (B1)| 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12.0
HhiR217 P (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12.0
Hhih218 P (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12.0
HhiR219 P (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12.0
HhiR220 PEMLFHL (B1) | 169.7 | 152.7 | 305.5 | 90.0 | 1.8 - 12.0
HhiRo21 P (B1) | 169.7 | 152.7 | 305.5 | 90.0 | 1.8 - 12.0
HhiRo22 PENL ML (B1) | 127.5 | 114.7 | 255.0 | 90.0 | 2.0 - 12.0
Hhiho23 P (B1) | 127.5 | 114.7 | 255.0 | 90.0 | 2.0 - 12.0
Hhihoo4 PN ML (B1) | 127.5 | 114.7 | 255.0 | 90.0 | 2.0 - 12.0
HhiRo25 PN (B1) | 127.5 | 114.7 | 255.0 | 90.0 | 2.0 - 12.0
HhiRo26 PN (B1) | 172.4 | 155.1 | 310.3 | 90.0 | 1.8 - 12.0
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e SN S S
=40425. R | 227 FENVEMS (B1)| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | _ 12.0
028 LA (B1)| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | _ 12. 0
75 1 M HU A A5 b M09 NV AHL (B1)| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | _ 12.0
FARO AR | AR | e B2 | R | B RS
42 M R S i % &
Hub 44, FH A (m) (R (me [ o) | = R i (m) HhH230 FEML ML (B1)| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 _ 12.0
WiBko36 | ml e (B | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0 HidR231 Fl A (B1)| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | _ 12.0
HH237 | LA (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0 232 LA (B1)| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | _ 12. 0
o323 | pilb i (BL) | 142.2 | 128.0 | 213.3 | 90.0 | 1.5 | - 12.0 | pysoss @kfidl (B| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | _ | 12.0
HiBe239 | BMk A (B1) | 169.7 | 152.7 305. 5 90.0 | 1.8 - 12.0
g & ) ) ) i ) _ )
Hube240 | pEML A (B 169. 7 152. 7 305. 5 90.0 | 1.8 - 12.0 Hibros4 LA (BL)| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 12.0
HHe355 | B (B | 264.4 | 237.9 | 264.4 | 90.0 | 1.0 | - 12.0 | HiBR235 RNV (B1)| 172.4 | 155.1 | 310.3 | 90.0 | 1.8 | _ 12.0
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Hib241 ML A (BD 127.5 114.7 255. 0 90. 0 2.0 _ 12.0
Hib242 LA (BD 127.5 114.7 255. 0 90. 0 2.0 _ 12.0
Hib243 LA (BD 127.5 114.7 255. 0 90. 0 2.0 - 12.0
Hib244 P A (BD 127.5 114.7 255. 0 90. 0 2.0 _ 12.0
HibR245 L FHHL (BD 160. 1 144. 1 320. 2 90. 0 2.0 _ 12.0
HiBR246 ML A (BD 169. 7 152. 7 305.5 90. 0 1.8 _ 12.0
Hib247 M A (B 169. 7 152. 7 305.5 90. 0 1.8 _ 12.0
Hib248 LA (BD 127.5 114.7 255. 0 90. 0 2.0 - 12.0
Hib249 ML A (BD 127.5 114.7 255. 0 90. 0 2.0 _ 12.0
HiB250 M L (B 127.5 114.7 255. 0 90.0 2.0 - 12.0
Hib251 LA (BD 127.5 114.7 255. 0 90. 0 2.0 _ 12.0
Hib252 Mk A (B 160. 1 144. 1 320. 2 90.0 2.0 _ 12.0
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253 | EM AL (B1) | 127.5 | 114.7 255.0 | 90.0 | 2.0 - 12.0 —
Hhdho54 | gAML (B1) | 127.5 | 114.7 255.0 90.0 | 2.0 - 12.0
HhHke255 | kM (B1) | 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | - 2.0 | [T BIgHs
Hhdo56 | MM (B1) | 127.5 | 114.7 255.0 90.0 | 2.0 - 12.0
o257 | LML (BL) | 127.5 | 114.7 255.0 | 90.0 | 2.0 = 12. 0 o R R A AR bR
Hhde258 | FEML AL (B1) | 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | - 12.0 a , FIHLIEIRR| (G ph ERRST |RUE | A o TN 1 R
Mhtkos9 | kM (B | 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | - 12.0 MRERS | AR (m*) R (o) [ (mD) (%) | & R FZ (m)
HhH260 | MM (B1) | 127.5 | 114.7 255.0 90.0 | 2.0 - 12.0 266 EML ML (B1)| 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12.0
o6l | VAL (B1) | 127.5 | 114.7 255.0 | 90.0 | 2.0 - 12.0 267 ML AL (B1)| 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0
HhHe262 | BNV ML (B1) | 127.5 | 114.7 255.0 | 90.0 | 2.0 - 12.0 HiH269 B AHHL (B1)| 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0
1263 | Mk (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 - 12. 0 Hib270 FMEFHML (B1)| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | - 12.0
264 | FMLAM (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0 HEe271 BMLAHL (B1)| 127.5 | 114.7 | 255.0 | 90.0 | 2.0 | - 12.0
HuHe265 | pk I (B1) | 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0 Hide272 BV R (B1)| 160.1 | 144.1 | 320.2 | 90.0 | 2.0 | - 12.0
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